Date: Date: Date: Date:

Score: Score: Score: Score:
1)5.6+3.2= 1)15.21+45= 1) 74.5 + 37.46 = 1) 6244 x 25 =
2)9.7-44= 2)12.64-3.7 = 2)53.1-21.36= 2) 3498 x 36 =
3)12.11+16.24 = 3)34.5-12.41= 3)62-14.52 = 3) 7649 x 44 =
Challenge: Challenge: Challenge: Challenge:

Equivalent Fractions!

Write 3 equivalent fractions of %

Explain how you would
find 2 of 672.

The length of a rectangle is 45 m and
the width is 8 m. What is the area of
the rectangle in cm’s?

If I know 8 x 9. What else do | know?




